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Instructions:

1. DO NOT OPEN THIS QUESTION BOOKLET UNTIL YOU
ARE TOLD TO DO SO.

2. Write your name and registration number on the cover of this
question booklet.

3. Please use a pencil and write your answers neatly ONLY on the
answer sheet provided. DO NOT write or draw in the circle next
to each answer box. No mark will be given if you failed to follow
this instruction.

4. If the information printed on your answer sheet is not correct,
please inform the invigilator immediately.

5. Rough-work sheets provided will be collected at the end of the
contest but they will not be marked.

6. Diagrams in this question booklet are not necessarily drawn to
scale.
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1) 4+15=7 [1%]
2) 12-7=7? [1%]
3) 13+21=7? [1%]
4) 27-12=7? [1%]
5 16+ 17 =7 [1%]
6) 3+9+2=7 [1%]
7) 19-8-3=7? [1%]
8 12+13+14=7? [1%]
9) 37-11-6=7? [1%]
10) 30+ 17 +23 =7 [1%]
11) 35+ 29-13 =7 [1%]
12) 26-12 + 48 =7 [1%]
13) 28 +37-22 =7 [1%]
14) 20-13 + 67 =7 [1%]
15) 65-54 +43-32 =7 [1%]
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16) How many pyramids are there in the figure [2.0%]
below?
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17) How many balls are there on the table? [2.1%]

K EEIKERNEE .
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18) Form the smallest 2-digit even number by [2.2%]
using the digits below.

FIANTHT, ER—ESRMOTLEH.
4,8,0,1,2
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19) Find the missing number in the pattern. [2.3%)]

IR, KHEEEHET.
1,8,15, 7?7 ,29, 36, ...

20) How many triangles are there in the figure [2.4%]
below?
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21) Find the missing number. [2.5%)]

AR ERIEF .

62+ ? =38+ 24

22) Find the missing number. [2.6%]

AR ERIEF .

15-8=9- 7

23) How many shapes below are formed by both [2.7%]
straight lines and curves?

LA & DB B 2 2] B L B AR F0 B AR AR BY 2
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24) John wants to buy two boxes of fries and one [2.8%)]
cup of soft drink, how much does he need to

pay?

INRREE 2 BLEM%F 1 MEK, £FHSDT?

-----------------------------------------------------------
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25) There are 25 animals lining up below. If @j [2.9%]
is in the 1°! place, then Q‘i:§is in the place.
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26) How many hours have passed? [3.0%]
BT %D INEF?
‘ Start time End time ™,
B R B [ #E R B R

‘-I-l-l-l-l-..~

~..-I-I-l-l-l-—

27) An umbrella is 88 cm long, which is longer [3.1%]
than a wooden stick by 35 cm. How long is
the stick in cm?

—3OMAR 88 EX, Lk—HRA#ER 35 EX.
BIERABRZDENK?
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28) A cake shop had 66 cakes. After selling out42 [3.2%)]
cakes in the morning, the baker made 18
more cakes. How many cakes are there in the
shop?

EREIERE 66 EEME, LFEWH 42 A%, &
HEMESGET 18 . BIERERAERS IME?

29) Find the difference between the largest 2-digit  [3.3%)]
odd number and the smallest 2-digit odd
number.

BRAHMAUESRER/NMNAIMAUELHES D?

30) If 1° February is Friday, which day of the week [3.4%]
will 18t" February be?

MR 28 1 HREHT, #FE 2 A 18 AR EHS
4e9
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31) Danny has 36 candies. He has 17 candies fewer [4.0%)]
than Tommy does. How many candies do they
have altogether?

R 36 RIAER . L AKED 17 K. RftbfIE
HERZ DR

32) Alan is 13 years old. He is 5 years older than [4.1%]
Billy. Billy is 2 years younger than Carl. How
old is Carl?

INBSE 135, LEFREASHE, MEXAEXILER
IN2 o BEBRSEZ DR

33) Choose 4 different numbers from below and [4.2%)]
fill in each box with one of the numbers. Find
the largest possible outcome.

R TEFEH 4 EARMNNTF, WMATHEHA
AT, BEABRATRN—ENF . EXHE

ERAREE?

6,3,9,7,5

00
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34) Find the missing number in the pattern. [4.3%]

RIFRE, IHBER EHIEF.
11,22, ? ,20,37,18,50, 16, ...

35) How many squares are there in the figure [4.4%]
below?

TEXFEZDEIEFR?
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36) How many 2-digit odd numbers have the [4.5%]
difference between its units digit and its tens
digit equal to 1?

B/ DEMMEL, EMAEMEFE AL
FREZ1?

37) Find the missing number. [4.6%]

AR ERIEF .

-----------------------------------------------------------
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38) How many dots are there in the gth figure? [4.7%]

B+ % 8 AEIRAEZ MEEEL?
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39) Find the missing number in the question mark [4.8%)]
box.

RIFARE, RHERFTBNHNF.
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40) Quinn, Roy, Sam and Tom are lining up at a bus stop.  [4.9%]
Quinn is in front of Roy, Roy is in front of Sam and
Tom is in the last place. If there are 8 people in front
of Quinn, 11 people in between Quinn and Sam, and
7 people in between Roy and Tom, at least how many
people are lining up at the bus stop?

A. 2. AATHAZETHHBK. FHEZHA
G CXHAERMESG, MTHERE. SHRAE
EHHET 8N, BFMAZEHT 11 A, MZMT Z[HE
T 7N HEETHHBASOBEZDOAN?

End of paper
£E7T
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